Wed.notebook January 14, 2021

Fluency Fifteen (wednesday

Place Value

1. What is the value of the underlined digit? 9832

2. Use the symbols < > or = to make this correct.
45+ 5 2x4

3. Put these distances in ascending order:

300m  3km 800m 1000m

. What is 50 less than 1207?

. Round 154 to the nearest hundred

. Round 9867 to the nearest ten

.34+10=

. Complete the sequence: 21,23, , 29,

© 00 N O O »

. What number is the arrow pointing to?

1245—— ’ — 7245
Addition and Subtraction
10. Find 237 more than 1831
11. Find 1964 less than 3958

Measurement

12. How many centimetres are in half a metre?
13. Convert 3.5 litres into millilitres
Fractions
14. 8 + 12 =7
20 20 20

15.10 - 7?7 = 4
15 15 15
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